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RE OB =E

(1)REDRE (BN : T, % (=2 IR RTAR LSRR )
FR235EE FR245E FR255E FR265EE TR27EE
e A 1,608,284  (4.5)[1,702,765  (5.9)|1,785,544  (4.9)[1,932,518  (8.2)[2,021,063  (4.6)
W H |1,569,505  (4.2)[1,670,290  (6.4)|1,743,424  (4.4)|1,913,970  (9.8)[1,992,489  (4.1)
7 5l 38,779 (19.4)] 32,475 (A16.3)[ 42,120 (29.7)| 18,548 ( A56.0)| 28,574  (54.1)
(2) mA DK (HAZ: 1, %)
REREF FER27EE TR264ERE EBE (a—b)
M B REZE a | B | BEE | REZE b | B | BEHE
1 R £ FH 421,492,976 20.8 23.5 341,378,454 17.7 0.0] 80,114,522
2 fEAB R O ECRE 71,200 0.0 A 12.7 81,600 0.0 0.0 A 10,400
3 JE X 4| 448,073,632 22.2 5.7| 424,058,368 21.9 0.0 24,015,264
4 T EE 4 A 4| 540,528,000 26.8 0.8| 536,220,254 27.8 0.0 4,307,746
5 B X M 4| 296,889,419 14.7 5.8| 280,572,885 14.5 0.0 16,316,534
6 M E I A 29,554 0.0] A 45.2 53,885 0.0 0.1 A 24,331
(- A 4| 295,422,000 14.6] A 4.1] 308,016,000 15.9 0.0] A 12,594,000
8 el 4| 18,547,506 0.9] A 56.0] 42,119,612 2.2 0.0] A 23,572,106
9 7 Iz A 8,900 0.0] A 46.4 16,600 0.0 0.0 A 7,700
&) & 2,021,063,187|  100.0 4.6]1,932,517,658|  100.0 0.0] 88,545,529
() W DIRR (B2 1, %)
REREE TR 27EE TR265FE .
H B REEE a | HAULE | BIEE | RELE b | #Ek | BEE Hh(a—b)
1 # % | 43,809,904 2.2 A 215 55,785,829 2.9 0.0] A 11,975,925
2 R B # fF #(1,890,626,456 94.9 3.7[1,822,584,469 95.2 0.0] 68,041,987
3 Mol iR EE| 37,311,336 1.9 5.0/ 35,545,969 1.9 0.0 1,765,367
4 & & B S 4| 20,741,554 1.0| 38,413.7 53,855 0.0 0.0 20,687,699
5w X & 0 0.0 0.0 0 0.0 0.0 0
=) & 1,992,489,250(  100.0 4.101,913,970,122|  100.0 0.0 78,519,128




(4 RIEH (B1BHRRE) DIKR BEED) (5) RigF 3= (BEAZ )
=8 . N FEE|TR27TFE|FRH24FE | TR21FE
BT B | WAFE | MR . T~ ~ ~
FERE X% FR2OEE | EH26EE|TRH23EE
23] 227,426,900 224,749,400 98.82 P 27,200 21,500
244 FE| 313,753,309 306,424,434 97.66 1B 28,080 27,200 21,500
25| 330,289,200 326,679,165 98.91 5 2 B[k 46,800 34,300 39 300
26478 342,633,300) 339,079,554 98.96 FRELS 46,800 40,800 ’
27T RE| 432,763,461 421,492,976 97.40 o A B 56,160 45,100 35,700
5 B 62,390 54,400 43,000
5 6 B[ 74,870 58,700 46,400
T B 81,110 68,000 53,700
5 S Bk 93,590 81,500 64,500
FRELS 106,070
10 112,310
11k 118,550
128 124,780
EARIE 131,020
(6) FE1 B HRIRIRE S 47 (HAr: AN)
FE ) X . . .
o | EmesgE | THoskE | TH2sEE | TH26EE | TH27EE
7]
65mELL 755k AT 2,683 2,730 2,931 3,367 3,552
75mLL F 3,176 3,224 3,270 3,289 3,311
(F548) 7 E AR 6 6 6 7 7
(FEF48) (T MO (1 0 (B 28 31 37 36 43
&t 5,859 5,954 6,201 6,656 6,863
NNENE(EXB)ZIBTEEH 3H (Hfr: AN)
X oM BEXE1 | EXE2 | ENE1 | ENE2 | ENES | ENEL | ENES ||
1B RS 131 161 178 173 158 170 135 1,106
6555 LL 7555 A 5 26 13 20 18 8 0] 100
75% M = 126 135 165 153 140 162 125 1,006
B2 R R 5 5 4 9 2 1 3 29
i by 136 166 182 182 160 171 138 1,135
(B)BENENETH VY—EXRZIREH 3A (HpL:A)
3 2 BEXE1 | EXiE2 | ENE1 | ENE2 | ENES | ENEL | ENES | 5
H1BWERE 76 121 105 113 68 56 22 561
OB WK 4 5 5 9 1 1 1 26
woOK 80 126 110 122 69 57 23| 587
(9) g EE (N ETFIH) U—EXZHRER 3H  (HfZ: N)
3 o BEXE1 | EXiE2 | ENE1 | BENE2 | ENES | B4 | ENES ||
BRI 2 0 17 22 24 17 10 92
B0 R 0 0 0 0 1 1 2
woOK 2 0 17 22 24 18 11 94




(10) FEEE N B —ERXRZIREHN 3H (B A)
X o) N2 ABULIEES | 82 NMRBIES | M BREEERIEY &t
BT PR R 128 84 41 253
52 7 Bk R bR 1 1 0 2
mo 129 85 41 255
(11) RIRFEHF DIRR (BAL7: . )
X V) w o+ B @) % %
B oE N #E Y — v 2 R 535,367,487 9,421
ZI T A T SO ERE 205,874,278 1,067
; i o N &Y — v R & 843,658,519 3,225
NEEEE TR EY BN 1,423,000 50
2B = i # F £ & B # 2,266,899 23
e Y — v X E | AR 64,107,754 4,517
5'\ n#E T Y — v R 73,089,907 3,419
? Hh 5 %5 5 R T B — B R AR A 446,121 15
Eﬁﬁ%%%?@. e AR N # 446,272 18
t[ o T OB OE o & & B 3,391,766 29
z | #E T B — v %G 10,166,526 2,315
i 25 53 i T # E 1,668,590 23,837
HoOo®moOoN % Y - v 2 & 39,340,637 3,485
o O T — v R & 29,560 36
wOEEE A RN EY — B RH 3,475,210 126
FoE N T & N # Y — v 2 #H 105,843,920 2,623
BEANTTHE TE T Y — B XK 30,010 3
at 1,890,626,456 54,219
(12) KERFRRIE DK (BAz: . A)
X 7 W% E (M) X R & H (N
FIREAHREEONHS 320,407 2
TR AT AR D R B S B S DR 0 0




